0065 22 22 4 16
B B
(034"
1:7:
_______ [v
031"
01 | 04 | 01 | 02 | 10
-
27-3111 @
125
2
A 0
(B) 0
(A _(B) 0
DO
1)
2
%
@)
7 ( )18 ( )|19 ( )yl20 ( yl2a ( Yl ()
353 195 67 74 57 58
A 353 195 67 74 57 58
4 4 4 5 4 5
300 300 300 300 300 300
(B) 1,200 1,200 1,200 1,200 1,200 1,200
A (B) 1,553 1,395 1,267 1274 1,257 1,258
1,407 1,388 1,385 1,374 1,330 1,400
1,773 1,664 1,676 1,671 1,674 1,650
% 79.4 83.4 82.6 82.2 79.4 84.8
119 133 134 131 145 100

1/3



ID

0065

3)

15

50

SEE

<

JJ

(3

<

JJ

(3

<]

Jd

@3

Y

dd

@

<

dJ

(3

17

JJ

@3

< =

JI L

@

<]

JJ

@3

<

JJ

(3

2/3




©

(3

®)

&)

(PLAN)

0065

ID

«y

L =

L Lkl

®)
@
@
4

3/3

@



